Make the Total

Circle the coins that would make the total at the start. There may be more
than one way to make the total.
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Make the Total Answers

1" answers

1. 5p: 2p +2p +1porbp

9p: 5p+2p+2por5p+1p+1p+1Ip+ipor5p+2p +1p +1p
Mp: 10p +1por5p+2p+2p+2p

16p: 10p +5p +1por5p + 5p + 5p +1p

25p: 10p+10p +2p + 2p + 1por10p + 10p + 5p

23p: 20p+2p+1por10p +5p +5p +2p +1p

50p: 50por10p +10p + 10p + 20p
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32p: 20p+10p +2por20p +10p +1p + 1p

2* answers

—

22p: 20p +2por20p +1p +1por10p + 10p + 2p or 10p + 10p + 1p + 1p
40p: 20p +20por20p +10p + 5p + 5p

56p: 50p +5p+1por20p +20p +10p + 5p + 1p

81p: 50p +20p +10p + 1por 50p + 10p + 10p + 5p + 5p + 1p

34p: 20p+10p +2p +2por20p +10p +2p +1p + 1p

14p: 10p+2p+2por10p+2p+1p+1p

TTp: 50p +20p + 5p + 2p

95p:  50p + 20p + 20p + 5p or 50p + 20p + 10p + 10p + 5p
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3" answers

£1and 20p: 50p + 50p + 20p or 50p + 20p + 20p + 10p + 20p
£1and 50p: £1+ 50p or 50p + 50p + 20p + 20p + 10p

£1and 75p: £1+ 50p + 20p + 5p

£2.00: £1+50p +20p +20p + 10p

£f1and17p: £1+10p + 5p + 2p

£1and 65p: 50p + 50p + 50p + 10p + 5p

£2 and 81p: £2 +50p + 20p + 10p + 1p

f2and 43p: £1+£1+20p+20p +2p +1p
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